2020 £ BHAERXFASAIH) #F MBEHRE

[1]
EHOE a, bla>0)Icxt LT, 2R fix)=3ax’+2x+b B
1 1 2
| finde=0, | () dx=6
R Ty =¥, b= — W_ <.
1 TX 2
Socos<—§—>d =
Poefmx\, 1
Socos < 5 >dx_ 5
oo (mxN, 2 16
Sox cos< 5 >d = 3
ThDH L EACE B
1 TX
S_1[7COS<T> (pfix)+ }dx
MIENETRDER b, qOEIT p= 5\?—2(3)@, q=1%&722%,
T
[0 ]
1 2x—5 y—/32=0
T
2 5
3 127
[T ]
k X ok .
1 c<k>cm<§, o)%nlmum“é, LA DIO— T 5.

fi12

i3

1,(t
1t

) Atx—t=(4—1%y
) 2tx—t=(1—1%y

3

3

2412’

)
2+ t2

Windom



=1

3 2
[iti4 <ﬁ_§> { -
(372

sy o) (3 9)
FElioRk

3
4
HiEh o R X %?

Bl = g

8 4x

ﬁﬁz pn-i—l = 9

4 4
qn+1 — gpn + EQn

A3 a:]0_2é$h+1

10+ 2362+ 1
p= 27

1+4/36x+1
14 Flx)=
3
A/36x+1

—1++/36x+1 Hix)= — 3
24/36x+1

Glx)=

I(x)=

4—/5

[H15 3

<zx<1

Atk

[ 1] @M OFR L ER O /) &3 5 EEDORE,
[H]ﬁ%WA7%w@$ﬁ®ﬁ&#w%iﬁfﬂotﬁmk%wﬁ®¢%®%ﬁo

[T 13D 2 KOEFROAZ A & A2 [ DO,

[IV] i3t S IR, & SITHBRATEET 2 X O#H

[I] EHRC [IV] 3~E—, 90 47 &0 ) R A& 2 AUEA M oRE: (450 2 fE) TTFhIt+aThs

-

Do



